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—sE2 F2usI RAY
500,000& = 3CH 1,500
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50,000& = 3H = 12& 1,800
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 2B AEXS 14,112 14,112 0
Odarsus 2 14,112,000& 14,112
< 4,234
s 9,878
MeEtxsa X3 8,000 8,000 0
= 4,000
= 4,000
307 21201 A 8,000 8,000 0
< 4,000
s 4,000
02 2t E xS 8,000 8,000 0
OdeM=sUa XA 4,000,000& = 23l 8,000
< 4,000
i 4,000
HSHRH ALY 11,286 7,000 4,286
J| 7,900
< 1,016
s 2,370
307 glz2tol & 11,286 7,000 4,286
J| 7,900
< 1,016
s 2,370
02 QIZtFAEXZ 11,286 7,000 4,286
OMSHIRH At 11,286,000 11,286
J| 7,900
< 1,016
s 2,370
ZOHQ MEM=E XN 8,306 8,076 230
< 1,653
[ia 6,653
307 21201 A 8,306 8,076 230
< 1,653
e 6,653
02 2B AEXS 8,306 8,076 230
OFofel MES0tel XI& (XX EoHer)
3,306,000 3,306
< 1,653
[ia 1,653
OHM17al &= HOHe MBH=UHI &It
A& 5,000,000& 5,000
d=2 =50l s 200,000 200,000 0
307 21201 A 200,000 200,000 0
04 QIZtHAIE XS 200,000 200,000 0
OX=2 =% 1211 E208
200,000,000& = 13l 200,000
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g Hsgs & Ad2a
?4?: Msgs Nd (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
2322d ot=0tetE al 70,000 70,000 0
307 glz2tol & 70,000 70,000 0
04 QIZtHAIE X = 70,000 70,000 0
OFILER2F GtZ0ttE U3
70,000,000& * 13l 70,000
FET dEN=SUHSE 55,000 45,000 10,000
307 gl2tol & 55,000 45,000 10,000
04 QIZtHAIE X = 55,000 45,000 10,000
OFEz dEM=sUa 55,000,000& = 13l 55,000
g2t SHIAZAUS 30,000 30,000 0
307 gl & 30,000 30,000 0
04 QIZtHAIE XS 30,000 30,000 0
OFgEZ=tl RHIAZAUS
30,000,000& * 13l 30,000
FEZt dIHAATXE 15,000 15,000 0
307 gl2tol & 15,000 15,000 0
04 QIZtHAIE X = 15,000 15,000 0
OFEZtl &= HAATXZ
15,000,000& * 13l 15,000
dsd =¥ 03 15,000 15,000 0
307 2201 A 15,000 15,000 0
04 QIZHHAIE X = 15,000 15,000 0
OF - -sgdxd EFU3 15,000,000& = 13l 15,000
d=20ct2ESZHS 15,000 0 15,000
307 g1zl & 15,000 0 15,000
04 QIZtHAIE X = 15,000 0 15,000
O&= ct2& =2Z0U&a  15,000,0008 * 12 15,000
FEZD| HHECIEHU S 15,000 0 15,000
307 glz2t0ol & 15,000 0 15,000
04 BIZtHAIE XS 15,000 0 15,000
OFEzZ=)| tHELUEUHS
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st HAUE MESUFAY 15,000 0 15,000
307 i+l & 15,000 0 15,000
04 QIZtHAIE XS 15,000 0 15,000
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307 21201 A 10,000 10,000 0
04 BItHAIE RS 10,000 10,000 0
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=0l A2 2D 25,000 25,000 0
307 g1+l & 25,000 25,000 0
04 RIZIHAIE RS 25,000 25,000 0
O=8 A2 2IUsl (&Y, &X)
12,500,000& * 23] 25,000
JFEAE A2 2o 3l 60,000 0 60,000
307 12+l & 60,000 0 60,000
04 QIZtHAIE X = 60,000 0 60,000
OJEAE A2 2I|10H3l  5,000,000& * 12%H 60,000
= sl oH A 70,000 70,000 0
307 glz2tol & 70,000 70,000 0
04 RIZIHAIE RS 70,000 70,000 0
Oz=t? M=0al iz 70,000,000 70,000
MEHMSANZA KA 380,016 315,858 64,158
J| 170,016
[ia 210,000
307 21201 A 380,016 315,858 64,158
J| 170,016
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02 B AEXS 380,016 315,858 64,158
OMENSXTI BIXI(LEH, 0124l)
2,024,000& » 1498 » 128 340,032
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s 170,016
QUENSI A sH (Y 0HEH)
238,000& » 1494 » 128 39,984
M= A4 2tel 3,320,142 1,609, 526 1,710,616
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[ia 2,620,142
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Oolgx=ssa 2 2tel 13,656
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— 52 41,6803 = 18 » 37 1,543
—4HE2E= 12,378,960& = 0.103 1,276
O0lZN=3d S 2HIDIAY
81,4433 * 3F » 78 43| 6,842
201 Letd] 24,244 23,848 396
01 At 22l 4,644 4,248 396
OgttgH| 4,644
— 0l =22 1,548
forZdl 249l 99,000& « 12& 1,188
FA8BE & 7Y 72,0003 * 53 360
—g1=2EE 1,548
S| 99,000& * 12& 1,188
FA8F & 7Y 72,000& =« 53l 360
— QU2 E 1,548
fo 3| 99,000& « 123 1,188
EA88 & 7Y 72,000& * 53| 360
02 2324l 19,600 19,600 0
Oz&22= & HMA 19,600
—OlgNss2(EIE, 428 5)
5,500,000 5,500
—HSXNZEH(HIZ, 44258 )
6,000,000 6,000
— SN EH (D2, 4R )
4,300,000 4,300
—dINEgREA(HIZ, 455 S)
2,000,000 2,000
-2 BLE2sE(HIIE )
1,800, 000& 1,800
202 (4 Hl 5,400 5,940 A 540
01 = LH 4 Hi 5,400 5,940 A 540
OMsAgs2e 150,000& * 39 » 122 5,400
401 Al HIZ 201 Y] 160,000 595,000 A 435,000
01 A& HI 160,000 595,000 A 435,000
ool Mssla 2= 10,000,000 10,000
OR2 dIZANOEEYH B 20,000, 000& 20,000
OE&Y dlelots 2s21+ &X
10,000, 000& 10,000
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O0lg - R0 MEXNSAE A2 ZF
60,000,000 60,000
2AE MESAE SXNE= 70,000 70,000 0
401 A& BIZ 201 8] 70,000 70,000 0
01 A& HI 70,000 70,000 0
OxE 8% MESAEE RANES
5,000,000& = 14S5™ 70,000
EYAZEOL 2 490,000 400,000 90,000
403 MtXISHHE X201 & 490,000 400,000 90,000
02 BJ|1 2SO0l CH &HCH & AF S HI 490,000 400,000 90,000
OF¥gAZXII s AN GE 2EHl XN&
490,000,000 490,000
FEAZEIMIT S0 =4 1,700,000 500,000 1,200,000
& 200,000
< 150,000
s 1,350,000
401 Al HI 2 28I 1,700,000 500,000 1,200,000
& 200,000
< 150,000
s 1,350,000
01 A& Hl 1,700,000 500,000 1,200,000
OFEAZ=IMIT =LA 700,000,000 700,000
& 200,000
< 150,000
s 350,000
O X 0yl 1,000,000, 000& 1,000,000
qE §32% HE 850,000 0 850,000
& 200,000
< 150,000
s 500,000
401 Al& I 28I 850,000 0 850,000
& 200,000
= 150,000
s 500,000
01 A& HI 850,000 0 850,000
ozg g3z Ay 850,000,000 850,000
& 200,000
= 150,000
s 500,000
HE2LAZH (2SS ) 57,596 52,720 4,876
AR AU (2K ) 3,780 2,520 1,260
lA2IHI (2 M=) 3,780 2,520 1,260
204 AR A H| 3,780 2,520 1,260
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 22 =4 3,780 2,520 1,260
OFJAZF(YEH) 105,000& » 3H » 128 3,780
Jl2ddl (23 s 53,816 50,200 3,616
Jl2Ztl (23 =s1) 53,816 50,200 3,616
201 Let2d] 27,416 29,800 A2,384
01 At 22l 27,416 29,800 A2,384
Ogt=&H| 9,200,000 9,200
O= &l 6,0002 * 23" » 11 » 123 18,216
202 oddl 21,000 15,000 6,000
01 = LH o4 1l 21,000 15,000 6,000
OJlege+=d 50,000& * 2398 = 12& 13,800
o¥azz 200,000& = 3% = 12& 7,200
203 YR =&l 4,200 4,200 0
04 FN2ELSZ=TH| 4,200 4,200 0
ORAM2IYRFLH] 350,000& * 12& 4,200
204 HR=HAH| 1,200 1,200 0
01 Mg 1,200 1,200 0
OXMGHR = A H| 100,000& * 12& 1,200
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